Calculation Ka and pKa with equilibrium I.
1.) The pH of .1 M HOCl is 4.23.  Calculate Ka and pKa for hypochlorous .  Show all the steps.  Check your answers with the given table.
[bookmark: _GoBack][image: http://wps.prenhall.com/wps/media/objects/947/970179/images/aabjvqpa.gif]
image1.gif
Molecylar

Acid Structural Formula® K, pKat
Stronger Hydrochloric  HCI H—Cl 2x10° 63
acid ” Nitrous HNOz H—O—N=0  45x107 335

Hydrofluoric  HF H—F 35x107, 346

Acetylsalicylic CHO, 306107 352

et GO, 1 Ot 2
fC\ O
L" A OH
e
H O
o

Formic HOOH ¢ oon 18107 374

Ascorbic CoH 80x10° 410

Ry CoH% Ho_

C-
Ho L0
H CH-CH,0H
OH
H H
\ 7
¢ o
VN s
Benzoic CHCOH H-¢  C-C 65407 419
o on
N
H H
?
Acetic CHyCOH  CH;-C-O-H 18x107° 474
Hypochlorous  HOCI 5%10°° 746
491010 9.31

ker Hydrocyanic  HCN
S8 Methanol CH;0H 29x10°% 1554

“The proton that s transfered to wate when th acd disociates s shovwn i colo
pKa = -log Ka.





